This is a computer aided drawing and must not be altered manually

(1:15)

P |
- | 170 3
~—] N
|
\
/ — \ [}
Remove the wire guards > I ]
during installation of the block 7
|
|
|
|
|
|
2 a [ i N @ @b
|
(0 o | o o)
| N
° | ° 38
- — - — +— - — - —FF= Q @
o | o 3 ©
| o
\O Oﬁ ! qo o ) )
g7 ! (TP
|
|
|
|
|
|
g P~ 9
o - A | Y
= ] | \ T !
Y '
|
870

I
[
| 14 | 32 |Nut- DIN 934 - M16 - Gr 8 - HDG X00020 0 kg
Fits GP 3,25 T ' 13 | 32 |Bolt - DIN 931 - M16x70 - Gr 8.8 - HDG X00019 0,1 kg
shackle | 12 64 |Washer - Nord-Lock - NL16 X00018 0 kg
[ X
| Working rang 11 2 ere.guenlrd . 00059 114,4 kg
| Max 30° Out of 10 2 |Bearing journal - radial - SBT 240x245/50 X00014 0,1kg
| plane loading 9 2 |Lubrication Nipple - DIN 71412 A - M10x1 - A4 X00017 0 kg
+ 8 12 |Bolt - DIN 933 - M24x50 - A480 X00016 0,3 kg
7 12 |Washer - Nord-lock - NL24ss - A4 X00015 0 kg
6 2 | Thrust washer - 240x330/19 00065 0,8 kg
5 1 |Sheave - wire - g1330 x PCD 1232 x 190 x 77 00056 663,5 kg
4 1 |Bearing journal radial - 240x280x150 00064 21,5 kg
3 2 | Axle holder - disc - 240x290x20 00066 7,5 kg
2 1 |Pin bearing - 240x300 00068 103,4 kg
1 1 |Sheave house - vertical 00058B 1142,7 kg
Item | Qty Description Designation Material Mass
Projection: Gen. Tol.: Gen. Weld.: Gen. Roughness:
Max Load: FitsGP 6,5 T : | @ NS-1SO 2768-1m NS-EN 287-1 / 288
Shackle Sheet size: Scale: Repl. for: Repl. by:
Max 45° out Al 1:10
15 kN
of plane Total weight: Title: ;
Block Lead - Vertical
Approx 2200 Kkg. Longhammerveien 7 - Max pull 1200 kN -
5536 Haugesund - Norway wrapped angle 99 DGR
D . No.: Rev.:
A | 20.08.09 Bolt holes moved SW | JAV bost@gleipnir.no e 00071A * A
0 | 06.08.09 Issued for construction SW JAV Www_aleipnir .no P—
Revl Dato Tekst Tegn. | Kontr. | Godki. gretpnir. ' Sheet: lof 1

-

.o
Max Pull: Z—

1200 kN

A

B(1:2)

Max Load 15 kN

~—

_——
_—
_—
©
[¢]

e

1884

730

A

220

1280

A

2214

\ /

\ /

\l/

N/

Max pull:
1200 kN

Notes:
Standards applied:

DNV "standard for certification No. 2.22"
NS 3472

EN 1993-1-8

Machine directive

NORSOK R-CR-002

Surface conservation:
NORSOK M501 system 1

Design factors:
DAF:
Load factor: 1,3

Interface drawing: 00072B
Wrapped angle: 99 DGR +/- 5°

Fleet angle: Max 3°
Max wire pull: 1200 kN

1,3

This document and all information and data disclosed herein or herewith are the confidential and proprietary property of GLEIPNIR AS

and are not to be used, reproduced or disclosed in whole or in part by or to anyone without the written permission of GLEIPNIR AS.

Contravention will be prosecuted.



